
Name: ___________________________

Subtract.

a. 4 6 2 b. 6 3 4 c. 9 1 8

- 2 3 4 - 1 0 9 - 2 0 7

d. 6 0 4 e. 8 4 6

- 4 1 - 7 6 6

f. 7 3 5 g. 7 6 0

- 1 1 6 - 3 8 0

Re-write the problems vertically, then solve.

h. 341 - 327 = _______ i. 290 - 61 = ______

j. 434 - 60 = _______ k. 517 - 294 = ______

    l. There are 567 students are Martin Luther King
Elementary School.  309 of the students are girls.
How many are boys?       answer: __________
Remember to show your work and label your answer.
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              ANSWER KEY
Subtract.

a. 4 6 2 b. 6 3 4 c. 9 1 8

- 2 3 4 - 1 0 9 - 2 0 7

2 2 8 5 2 5 7 1 1

d. 6 0 4 e. 8 4 6

- 4 1 - 7 6 6

5 6 3 8 0

f. 7 3 5 g. 7 6 0

- 1 1 6 - 3 8 0

6 1 9 3 8 0

Re-write the problems vertically, then solve.

h. 341 - 327 = 14 i. 290 - 61 = 229

j. 434 - 60 = 374 k. 517 - 294 = 223

    l. There are 567 students are Martin Luther King
Elementary School.  309 of the students are girls.
How many are boys?       answer:  258 students
Remember to show your work and label your answer.

567 - 309 = 258 students are boys
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